PART -1

1) Physics

Two spheres of equal radii ‘r’ arc
touching cach-other. Gravitational
force of attraction F between them is-

A Facr?
B. 1
C. fur? _

D. Fur®

The distance moved by a particle in
f
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SHM of amplitudc ‘A’ in one time- 210 U 317 e A ag i gl gt
period is- "
A A e ,A
B 2A ' B, 2A
C. 4A C G 4a
D. Zero D. A
3) A uniform ring of radius ‘r’ and mass v Brean aen wfe Wi | <A 2
per units length 1 is spun about its o1 U GG FeTd 3T 234 % i
axis with uniform angular velocity Y FU AT o' @lTﬁW%l
'a'. The increase in tension in the ¥ i St
ey aerq & g A gfez et
A Ao A do’r?
B. 0% @ B. Lok
C. vor? C. ror?
D. 22¢2%2 D. Ao’
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@) A caris moving with a speed of 4 500m B W’qutsijﬂm 2
3Oms‘1_ on a circular path of radius /A i =1 | fd T el 2 )
500 m. Its speed is increasing at the AT @ g W ol FH )
rate 2ms~2 . What is the acceleration 2
i3 2.7ms:
of the car? a A. 2ms B.

-2
' ~2 ms
A 2ms2 B. 2.7ms™2 @ C. 1.8ms D. 9.8

C. 1.8ms2 D. 9.8ms™2

The intensity of magnetic field due to 5. el ©iY qr 3§ yared ¥R i ®

S.
- currenti in a long straight wire will Trarehig 8 oY dfteran AT e-
be proportional to- . *
. A 1
A 1
2
C- A
C i i
5: 1 0. 1
T i
6. Heat energy absorbed by a gaseous 6. weRfafemd, @ﬁm e 1 <Thi
system in going through a cyclic ufsr 3§ & A 3§ e gr ﬂi‘lﬁﬁﬂ
process, shown in fig,, is- T 7 GRETOT B
V“‘ 1 | - Ve,
30T O 3d.. .
10+ 104 O
} > P (in kPa) — H—p el
10 30 10 30 R )
A. 10'n
A 107wl x N
' J - 107=n
B. 10*°xnJ @ C 12 G@
- 10°xw
€ 10°n) 5 s b
- 10 =
D. 1073xJ X
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7. A ball of mass ‘m’ is dropped from
height ‘h’ on a platform fixed at the
top of a vertical spring. The platform
is displaced by a distance ‘x’. The
spring-constant of the spring is-

moO ?
h

S~
o/l
X L8
B. ngh /Q,
%
C. 2mg(h+x) @
52
2 2mg(h+x)
h2

8. In the arrangement shown in fig.,
mass of A is 1 kg, mass of B is 2 kg
and coefficient between A and B is
0.2. There is no friction between B
and ground. Force of friction
between A and B is-

A

—>F=3N

B
77T’

A. ON
B. 2N
£. 3N
D. IN

X
S E
™ £

JeAtR fsi 3 IW A wewH T h
e A m FoAAH & T T i
ST 1 s x g A facenfia & s
2 i a1 7P 8-

mo ?

h
L

A. 2mg
X
B. 2mgh
x2
C. 2mgfh+x)
x2
D. 2mg(h+x)
hZ
vefifa fom §, scites A HIEHIH 1 kg 8,
B &1 2 kg 99T A U B & 7&4 9401
Ui 0.2 1 ST B T Rl o A
ooy 31 21 i A T1 B o6 Hed 6T
ST <l HF &FTl-
A
B —*F=3N
IITITirereresrv

0=
27
e
. 13

O 0N w >
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9. The relationship between electric P t ud R VS sftr

fefa e E T
o
field E and potential difference V Geie BT 8-
is-
A = %’)V
A - - E=—
B. b 4 4
B. » - E=V-V
E=V.v :
C_ b 4 -
C. - - . E=VxV
E=VxV
D. —
B - . E=jvdr
E =IVdr

10. A particle moves on x-axis according 10. x — 37§ TR A GLFHT A I

to the equation x=A+B sinot. The 2 PP ic Y >(=1ﬂ;+Bsin|:1:n£'%l7“5‘”%5?":a

motion is SHM with amplitude- ATe 1 T 3™ ER-

A A A&

B. B ' ¥
@ B. B

. A+
C LB C. A+B
p° A

A2+B? D A2 12
11. 1f a charged particle is moved along a 11. afe el o grahr & i fowm &

magnetic field. Then magnetic force T ST 21 AT 39 91 WA J1eT
on the particle will be-

TrhH T BMI-

A. along the veloci )

o A dRfRmd
B. opposite to its velocity .
. ; _ B. o < foudie fawm &
4. Perpendicular to its velocity

D. - Zero | C.. =" & e faum i

D. Y4
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12 A tangent galvanometer is connected 12. e wafeat et e skl A €y
ducc;ly tc; an ideal battery. If the o1 21 7R e & ﬁ <61t T
number of tums in the coil is Ao A Rdg
doubled, the deflection will- i
A. increase 7= A, T
B. decrease C B. N i
G- remain unchanged C. s gfEda A g
D. either increase or decrease D. T S AT HH B

'13. Let P and E denote the linear 13. 9METP 9UT E B2 & W T a1 301
momentum and energy Ofphoton. If 313[ Eﬂﬁ %I zﬂ% q éﬂf Eﬁf o ﬁ?ﬂ
the wavelength is decreased- Y .
A. both P and E increases

@ A. PTUTE a1 agil
8. Pincreases and E decreases\
C. P decreases and E increases B.. P a EFA B
D. Both P and E decreases C. P BFII 74T E @M
D. PUd E3H1 &9 &l

14. A block of mass ‘m’ is placed ona 14. ¢ @HW%@WQHQT m
smooth wedge of inclination 6. The SoIHM 1 e o o Tl 81 gL e
whole system is accelerated Aifer foerr & v s i e st 2
horizontally so that the block doesn’t .
slip on the wedge. Force exerted by ﬁi%ﬁfﬁw <Hieh e Tl &1 3t
the wedge on the block has a T aifeh TR @I 71 7t <61 9T 2-
magnitude- &, 50
A. mg @ B. mgsec
B meseee | C. mgcos®
G, MRt D. mgtan®
D. mgtan©
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2 ﬁﬂé‘t,w
15. The ends of rods.of length ¢ £ * and 15. Wmaﬁwﬂ

radius ‘r’ of same material are kept at g r 2SS el @ iR tR
same temperature which one of the Tarsmar 2 e a1 9% T A3
;c::l:(;:gfdr-ods conducts most heat i 3o @R F0T-

Jez L=1m,r=1cm A £=17, r=13.
B. £=2m,r=1cm y B. £=27 r=184.

- £=2m,r=2cm l @ C. £=21, r=2‘3f.fﬁ..
D. £=1m,r=2cm * ID. =1 ,ﬁ’r=2f.[.rﬂ_

Three point particles are located at 16. ‘a’ ﬂaﬁmﬁ‘f{%m H I

the vertices of an equilateral triangle o U 0 R & (Ft dH F) A%
of side ‘a’. They all start moving 0T TR ST T AT v E T Ay
simultaneously with equal and ) 2 ged =
uniform speed ‘v’ with first particle T SRR AT AT 6l © 5,
heading continually towards the <ht a7fel e gE HoT < A e w2,
second, the second towards the third AL 97 I iy Y 3N agr ey H
an-d the third towards the ﬁrst They %Wiﬁ iR e el 1 v o 3
will meet each other after time qema ﬁm@ E@: 3R
A. a

3v | : A a
B. 3a ' 2a o

v [A S ‘j‘ﬂ B. 3a

T v

C. 2a ) -

v C. 2a

v 5

D. a

v D. a
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7. Kinetic energy needed to Project a

17. m =A% oo fie 1 gt i aae &
- body of mass ‘m’ from the earth’s = =

surface to infinity is- SR S g s Y
ST TTfert 31 T AH aITl-
A. meR
4 A. mgR
B. mgR )
2 B. mgR
@ T
c. mgR
b 2mgR G mgR
D. 2mgR
8. A cubical block of mass ‘M’ and 18. O 01 % T G 7 el WS

edge ‘a’ slides down a rough inclined

et ‘a’ YT 549 “M’ %1 U BTN sl
plane of inclination © with a uniform '

velocity. Torque of the normal force O S A iy
o T .
on the block about its centre has a WA ARSI BREE KD
magnitude- 30 % o H: ST T 7H B0T-
A. Zero : A T
B M | @  B. Mga
&< Mgasin © C. Mgasin 0
D. 1 . '
EMga sin@ D. %Mga sin©
19. Which device is used to measure 19. R AT ¥ ford S A TR 1 3T
current? T ST -
A. VOItlnetel' A m
B. Potentiometer @ & _
/2. Ammeter
C. I

D. Wheat stone Bridge
- - p. RewRbw
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et A

20.

2

Di ion of is (wh
1mension o g (where o he
notations have their usual meanings)- )
A M3l A. mlL3TA?
B MBT1A2 @ B. MI3T1A?
C M 1O7940 ' C. MOLOT0A0 -
D. M11312p D. Mm11372A
21. The change in frequency due to 21. i s 35 T TR A
Doppler effect does not depends on- it 3¢ Fan &-
A. The speed of the source A BTFIATR
B. : j
The speed of the observ:er @ B Y&FFaE W ;
C. The frequency of the source
: C. T &l i@
D. Separation between the source
and the obsegver ~ D. &id Y & 19 H g W
22. The arrow marked in the symbolic 22, T % gelteh 9 o1 o R wefila
representation of transistor represent. 2.

A. the direction of flow of holes in
the emitter region

A. FETF & 3 Bt F ware i R
B. IcHSih & U oIz & aTe i

B. the direction of flow of electrons

in the emitter region @ fem
—~€. the direction of flow of minority C. IeToieh 8 I STCTHETF 7AW
charge carriers in emitter region e % TR )
D. the direction of flow of majority i 41
charge carriers in emitter region D. 3cesien 8 & TGHETH JA AT
< YraTe < R
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I 23. X-ray beam can be deflected-
A. by an electric field
. by an magnetic field
&z by an electric field as well as by
magnetic field D
D. neither by an electric field nor by

magnetic field

' 24. A junction transistor is called bipolar

device because in it-

A. there are two junctions

B. there are to terminals @
_Jk. two types of semiconductors P

and N are used

D. both electrons and holeé are

responsible for the flow of

current

25. Transformer is used in-
A. DC circuits only
¢ B. AC circuits only - @
_C. inboth DC and AC circuits

D. neither in DC nor in AC circuit

23. Xx-farw fadfa erft-
A. o & BRT
B. IR & E
C. ﬁg?ﬁaqégxaaﬂaa’lﬁaﬁ%m
. foregetar e et 3 &l 51T Tl

24. fty gifreex TRy et @ FifH

ZqH-

A. il

B. AR

C. P @I N 2l UK & eadreieh I
EDEICE

D. HT WaTE ¥ fordl JoagH auT Bl
1 IRt Bld ®

25. STEGRIT 6 WA BT 2-

A. ¥a@ DC uRaaH

B. el AC URwa

C. AC T DC Wi g d

D. AC ¥t DC 2t uftay 8 T&f
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26.

Moment of inertia of a solid sphere

26. ‘R’ fisgraan p’ e 35 0 3 Ty .

ST &
of radius ‘R’ and density 'p' about its 1 Y =41 & IRa: I
diameter is-
76
A 176 o A 2200p°
B ® E
195 B. 105 RS
176 c 125
c %S_F,RZ 289
2 D. 289 PR
B 289 4 125
125
27. Two simple pendulums begin to swing 27. AW A TF G AleH AT HA §)
simultaneously. The first pendulum fram w3 v Sier 9 9F AT |
makes 9 oscillations when the other 3 v B g A 7 2l I e
makes 7 Oscillations. Ratio of the 3 3t ™ £ caratE S 2L
lengths of the two pendulums is- | 2H e ; '
A. _9_ A. 2 B
7 7
B 7 B. 7
9 9
C. 49 : C. _1_12
81 81
o 81 D. 81
49 49
28. The output,of a two input ‘OR” gate 28. fzfash <oRr’ ﬁzmﬁﬁa‘\vﬁ%ﬁamﬂ
is zero only when- RUESCIC
A. both inputs are zero A 3t ﬁ%-‘!ﬂ?fqé’t
B. both inputs are one g
g o @ B. A el e (1) &
L either input is zero _
D. either input is one C. +3u fash R
D. 13 G Feh wh (1) Sy
SPACE FOR ROUGH WORK / I & 3 fordt e
20362-XNY-PRV-JYN-M 12 I” "“ll" I |““" I" Ill 43 SetD

T —————




29. A particle is kept at rest at a distance 29.

- *R’ equal to earth’s radius above the
surface of earth. Minimum speed
with which it should be projected so
that it doesn’t return is-

A& |1
~gR
28
B. 1
~gR
G
C. &R

D. J2gR

(30 The amount of heat required to raise 30.

~the temperature of 2 moles of an
ideal monoatomic gas from 273 K to
373 K, when no work its done, is-

A. 100R o
B. 150R @k

( £ %,&:
C. 300R 10 7z

D. 500R @

31. The capacity of parallel plate 31.

condenser depends on-
A. nature of metal

B- distance between the plates
C. thickness of piates

D. potential difference between the
plates

et i g & g B R F AR
S W Fymraen A & T A O A
=91 1 i a8 G TR
19 TE Sem?

A 1
—gR
2B

B. 1
—gR
28

N
qmm'mrﬁﬁﬁq%zﬁa%
AU B 273 KA Ge@ 373 KFA A

TS I 1 TRETT 8T, 5 31 W/
o = T 2

A. 100R
B. 150R
C. 300R
D. S00R

TR Wi G < anitan i 3=l
%

A. o1g < Tl |

B. @i AA RPN
C. wIHIARTER

D. <l & ¥ fnermR
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2r
2r

32 A particle of mass ‘m’ is moving in a

horizontal circle of radius ‘r> under a

centripetal face equal to —%, where

k is constant. Total energy of the

particle is-

Ak

C. k

r
D. k
r

33. A particle moves with constant

velocity parallel to x-axis. Its angular
momentum with respect to origin is-

A. Zero
Constant @
A= Goes on increasing

D. goes on decreasing

34. At absolute zero an intrinsic

semiconductor-
behaves like an insulator

B. behaves like a metallic conductor
C. has large number of holes

D. has some holes and some
electrons

32.

33.

on Z 35 0 BT 6 TR
R AR 7 --r';- 35 el T T
m%',aﬁkmélwaﬁﬁm

o
- | =x

qmmx-am%eagﬁmﬁﬂﬁa"ﬂ“ﬁ
F T2 t@ﬁ?\ﬁ?qﬂﬂzﬁiﬂlﬂm, '
Ham gh-

A I

B. faa

C. dgare
D. ¥aaT®

UT YA 9 T Y[ e
A. FETTH % GHH TR FaT &

B. mﬁamgam%mwm
2 |

C. 3 Y ST e 2
D. A3 el 71 T WA 8 3

SPACE FOR ROUGH WORK / % &4 & fordy sz

20362-XNY-PRV-JYN-M

o NN o soo



@ Masses of blocks A, B and C, shown 35. weRid e d, s A, BATC &
_in fig, are my =4kg, mg =2kg and
~ m¢=3kg respectively. The mass of
I the movable pulley is 1kg. The

ZEIH F9: my, =4kg, mg =2kg T
me =3kg B SEEHH Jefl 1 Z9HH

1kg 1 =TT A T T ENT-
acceleration of block A is-

M /ae

-

' A
Al N |
I HA |
: 8] [c
B] [C
- A B
A B 7
7 ’f%s =
B. 28
B. 28 | 49
a9 Ang = D
C. 17g
c. 17g 29
49
D. 9%
D, % 49
v~ a9
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36. A particle of mass ‘m’ is moving in a
circular path of radius ‘r* such that
its centripetal acceleration a, is

SRRy 2
varying with time as a; =k?rt?,
where k is a constant. Power

delivered to the particle by the forces
acting on it is-

A. 2tmk3r? t

B. mi?rt
@

- %mk"rzt5 e

D. Zero

7 A normal eye is not able {0 scc
/" objects closer than 25¢cm because-
A. the focal length of eye is 25¢m

B. the distance of the retina from the
eye lens is 25¢m

L. the eye is not able to decrease the

distance between eyc lens and
retina beyond a limit ij

@the eye is not able to decrease the
focal length beyond a limit

38. The electric potential at a point duc
to point charge is-

S« inversely proportional to square
of distance

B. directly proportional to square of
distance

@nversely proportional to the @
distance

D. directly proportional to the
distance

36.

37.

38.

o HAL 76 0 ¢ h AL
oy gy ekt fa ot 8 1 S e
aatent 31V Wl o, WU 1A

ag =k rt?, (k=Fmcita) % FHUIC
aftafer eYar 8w ey are et
yiast i w1 A

A 2nmkirtt

‘B. mk?rt

C. %mk" ¢

D, A

W1 3 25cm @ %4 30 00T 7% Ay
@ Tt et -

A. 3l g gl 25 A, orft ¢
B. Wrrhrmctaagh2saMm @

C. @ fafera diar ¥ ae 37, ¥ da vd
& & +fa i gl 8 o 1t o
Tl

D. t{zﬁﬁf‘mmmémaﬂﬂ,tﬁwq{t
1 T A AT

O forg e 26 preor el forg o

ferger e =6 91 B

A. Gl et & orarard

B. gl =nf % srprmurd

C. g% agmmm

D. o STy
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19 The work function of metal is hv,. 39, HIIR] T BRI T h,, B HTHIE T

i Light of frequency v falls on this sy ot ey R ) R A
metal. The PhOthclccmc effect will o Y g afRa el ak-
ke place only if-
i Q vV, i A. vy,
. B. v>2% @) . Ny
. C. v<VY, . WSV
D. Vv
D. velo v< —5’
| 2
80. The slits in a Young’s double slit 40. ¥ R-Rere waim i} A1 Rere <R S
experiment have equal width and st § e e vl e % v Tar
o ol . :
source is p accd_ symmcfncally.f w:th v ) i fer o e 1, 2 af w
respect to the slits. The intensity at e
the central fringe is 1. If onc of the ﬁazmﬁaaﬂﬁmrmﬂ\mﬁgqt
slit is closed, then the intensity at this e -
point will be- Al
< o
A o @ . B. /4
@ /4 ' C. lp/2
- lo/2 D. 4,
D. 4l,
@ A series AC circuit has a resistance 41. Aot AC qRay T aRAY 4Q au
of 4Q and a reactance of 3Q2. The yfam 30 21 a6 whemar gill-
/gnpedance of the circuit will be- A 50
@ 50 a
B. 12/7Q
B. 12/7Q A
P c. 7Q
c. 7Q
D. 7/12Q2
D. 7/12Q
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42. The cquivalent resistance of the 42. R Y ﬂzﬁi‘ﬁﬁﬁ a;I

network shown in figure between sﬂagwnﬁflﬂﬁm-
points A and B will be-
10Q
100 A [TW/ L 250 4
A W c 2.5Q B I ‘ 300 WW I
30Q —MWW—
| —Ww— | |
A. 10Q
@109
@ B. 7.5Q
8. 75Q
C. 20Q
C. 20Q -
D. STREH & I 7 '
D. none of above n S
43,/ The speed of sound in a medium 43. ﬁ%ﬂm‘éﬂqﬁﬁﬁiﬁmﬁ‘ﬁw_‘%—

depends on-

A, ST TOTeRf R g Sl Toren
A. The elastic property but not on

WTE
the inertia property
- B. The inertia property but not on B. Sig=R Y ko b l_ |
the elastic property @ Rl '
The elastic property as well as C. eI Toren we el Tm-;};ﬂ:ﬁ
the inertia property e
D. Neither the elastic property nor . &
5 D. Y Uq SISty ﬂu'mﬁ

the inertia property ' L R

oy SPACE FOR ROUGH WORK / T T % fordt e

O :z;o _ '

w ey + L%

30 R

20362-xw-PRV-ﬁN-M 18 I" "I"l““'“]”l "l“ 43 SetD
) o



Q*/[,ength of a metal wire is L, when

tension in itis Ty and is £, when the
tension is T, . Natural length of the
. wire is-

A 4 +4,
2
YA
! iJ'C} tl Tz .—Lz Tl
o T-T
D tl T, +1’2T1

45. The phenomenon of beats can take
place-

A. Forlongitudinal waves only
B. For transverse waves only

¢ |for both longitudinal an
7
transverse waves ; C

D. Forsound waves only
@ The magnetic susceptibility is
negative for-

A. Paramagnetic substance only
e

@,’ diamagnetic materials only / B
C. Ferromagnetic materials only

D. Paramagnetic and ferromagnetic
materials both

84, T ATich AR e £, @ 9 I

T T, 1997 £, 39 T T, 71T
&1 T TS T HH B-

A 4+,

2

B I, 1,

C 4T,-4T
L-T

D. {T,+4T,
L+T

. faede & ger uedt &

A. A e oo & ford

B. et SIFEd a1 ford

C. ¥rfeed ud sy 3 At o ford
D. Fad Al atT % ford

. R g A Eielt &

A. A g verd & fod
B. Faa fagrad uad & foid
C. ¥ g va & ford

D. TP T cllegradhid Gl
QT & fordl
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ariafie QU ht o ufed i) 2
47. Total internal reflection can take 47. Tﬁ :

place if- afe-
A. Light goes from optically rarer to A. ST, SRR foret we @ aws
* denser medium
| ; wTeRy 3 ST 8
@ Light goes from optically dcnsc% At
to rarer medium ~R B. WY, YRR Ga TN
| C. The refractive indices of the two ATEAN H ST &

media are close to each other C. AT AT T 39 diT T
D. the refractive indices of the two

Il WET R

Il media are widely different

] D. @I ATeaw ¥ 3adHish i 9gd 3w
&

: ',5 @ 1 mole of a monoatomic gas and 1 48. uF reyi A e ¥ | Wi

i e T

i} mole of a diatomic ideal gas are R e F 2 fa R fABa sy

1 mixed. This mixture is suddenly ;

I 1 A RS AT ¥ = F WA

i compressed to Eth of its original

I o T wdtfe forma smar 1 s

\j volume. Its temperature increases by

| } a factor of- WWWW m'

| { A. g2/3 ' A. g2/3

{ B. gl2 @ B. gl/2

g C. gi/4 C. gl/a

| D. g3/a D. g3/4
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.+ Capacitance of three condensers are 49, T genfE i it s 1, 2 4T
1,2 dnd3 pf. Second and third 3 TSI &) X T et S

condensers are connected in series

and then connected in parallel with q@t’)uilaméwwmﬁ F
" first condenser. Combined mmﬁ?ﬂ_’hga"é' R3RND
capacitance of three condensers will giiar arfi-
-y R - A 2.2pf (EISHIEE)
o
(1) 22t i o, 320t CTERRTE
g/ 3.2uf (microfarad
pft _ e C. 2.5pf (HTSHIHIE)
. 2.5uf (microfarad
ey S iy D. 4.2uf (AFHHS)

D. 4.2uf (microfarad)

D/Breaking stress of a wire depends on- 50. O a9 Sidad (aﬁmem fnft

aterial of the wire T -
A. TRFERER
4-B. length of the wire @ i dEr
C. radius of the wire c. andr BT
D. shape of the cross-section | D. IITEI-HE T AR T
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PART - II

2) Chemistry A
31 When freczing of liquid take place in 5. 94 7% 1 T €1 R 1 7%-
a system it is- : q>0mq<03’f’nﬂ€?ﬁ‘ﬂﬁ‘ﬁ
K. mayhaveq>0orq<0 T
depending on the liquid <
B. isrepresent by q> 0 @ B. g> 0FRRIAR
C. isrepresent by q <0 C. q<0FMRIAE
D. h35q=0 D. q:O%
52. The standard free energy change for 52. 7 e i weh s 3wt Wi
~ the following reaction is ~210kJ/mol. ~210 kJ/mol 2] 28T 91 At v
at1 1al?
What is the standard cell potentialf g
2H,0,(aq) > 2H,0(4)+ 0, (q)
A +0752 A
| A. +0.752
B. +1.09
g +0.420
C. +0.420
D. +0.640
D. +0.640 ,
33. Titanium shows magnetic moment of ~ 53. SR I A 173 B M
1.73 BM. in its compound. What is i WWW%‘I i
 the oxidation number of Ti in the i S8 e !
compound? : .
A. +1 o A. +1
B+ @ B. +4
C. 43 C 43
D. +2 D. 42
SPACE FOR ROUGH WORK /1% &4 3 fordt g .
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- 54. Which of the following molecules 54. Beffagdfed aFR A AT

represent the order of hybridisation
sp?,5P%,SP,SP from left to right?

14
A. HC=C-C=CH

A.
B? CH,=CH-C=CH ™
C. CH2=CH‘—C-H::CH2 4

D. CHy—CH=CH-CH,

C.

D.

e Y geor TN SP2,SP2,SP,SP

HC=C-C=CH
CH, =CH-C=CH
CH, =CH-CH=CH,

CH; —CH=CH—CH;

@ Identify Z in sequence of reactions- 55. ST % 3 3 Z 9 e

HBr HB
CH3 CHZ = Csz CH3_CH2 _CH=CH2 peroxride
-SSP oo __CofisOta
A. CH3 —(CH,)3 -0 —CH, -CH, A. CH;—(CH,); —O—CH, —CH,
B. (CH;); ~CH-O-CH, ~CH; G\ B. (CHj),—CH—0—CH,—CHjs
C. CH3—(CH,), —O—CH, C. CHy—(CHy)y —O—CH,
D. CHy—CH, —CH(CH;) D. CHy—CH, —CH(CH;)
—0—-CH; —CH;, —0—-CH, —CH,4
The solubility product of AgCl is 56. AgClHﬁ%ﬂﬂTW 1071002 2
' 107°M?. The minimum volume in 14.35mg AgCl 31 Hier F fore st 1
(m?) of water required to dissolve SR A ST (m? %
14.35 mg of AgCl is approximately: @) .
A. 001 .
Bt i\- .- A. 0.01
R X B. 0.1
C. 100
C. 100
D. 10
D. 10

L‘ B e R AT it R e ) S bl et M T Nl e S BT DOR I
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57. fer K,Cr,0, e Na,50;

57. Acidified K,Cr,0; solution turns R
dft+ 6 &
| green when Na,SO; is added to it. forer X o _ ®
i This is due to the formation of- 81 AT &7
| &' Cr(S04), A. Cry(SO4),
B. Cr()i_ Q_\""' '\) B_ C I'Oi_
C. Cry(503), C. Cry(503),
D. CrsO, D. CrsSO,
| 58. For a dilute solution, Raoult’s Law 58. @ﬂﬁmﬁ%mml <%
| states that: & . '
’: A. The lowering of vapour pressure A TSRl IEHA, fadrg & HieT 3IMH
' is equal to the mole fraction of ) 22
solute sl
_B- The relative lowering of vapour B. Teare i TR I farera
pressure is equal to the mole o A IS F T RIaT 8
:Ctlo;l of sc;lutc f @) c ¥ SRR Srae e i
C. The relative lowering of vapour Frer e & qETI 2
pressure is proportional to the % E?I’dT
amount of solute in solution D. fred FrarqeE ars F A
D. The vapour pressure of the VTSI o S 8T @
solution is equal to the mole
fractron of solvent
59. Which one of the following does not 59. i i @ 1fied KMnO, FaeT =t
decolourise an acidified ' R AR F=an
KMnO, solution?
A. SO,
o 0 | e B. FeCl
. 3
B. FEC|3 (@)
| C. H,0,
' < H,0
Sk D. FeSO,
D. FeSO,

SPACE FOR ROUGH WORK / & & & e s
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@ In the closest packing of atoms: 60. AV hi fAFead Afr A-
A. The size of tetrahedral void is A. bR RefchepT T AT TS
greater than that of octahedral BT 2 3uF AEwaR AR A
void c
. aquperehT RFRheRT T STTHI ST
B. The size of tetrahedral void is x> 5
smaller than that of octahedral ({2, | BT & 30 rEHEH i
void ¢ aqe RIRw T SR A
C. The size of tetrahedral void is BT & 36 pHerh R &
equal to that of octahedral void = S5
D. The size of tetrahedral void may 0, wrhH St
be greater or smaller or equal to srrehr Rtk :
that of octahedral void depending BI2T T T SN, A€ I T
upon the size of atoms arFR R Fnfears
' 61. Which of the following polymer is 61. iy o @ I |1 agereh Sigel o U o
| stored in the liver of the animals? aufed @are? -
A. Amylose ' .{\\ A. AR
B. Glycogen Qi J B, TR
€7 Amylopectin
C uy 1 p o
D. Cellulose
D. A
- 62. The major product obtained by 62. 4-frarsa 9= 1 A HBr H:1 AT
% addition reaction of HBr to 4- qeaitarEe < 3uffa T U 8
J Methylpent 1-ene in presence of AT e S A
: el
peroxide 1s- . -
| A. 13T 4-Framde 9=
s A. 1-Bromo 4-methyl pentane @ )
! _B7 4-Bromo 2-methyl pentane B. 451t 2-foeTset 9o
g C. 2-Bromo 4-methyl pentane C. 25 4-ﬁm§aﬁé=r
| D. 3-Bromo 2-methyl pentane D. 3501 2-fnde 4=
t |

SPACE FOR ROUGH WORK / T &t % foidt wre
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63. Considering the element B, C, N, F 63. B,C, N, F&d Si el o el 197

and Si the correct order of their non FT OS5 e- '
metallic character is-

A. B>C>Si>N>F
A~ Si>C>B>N>F

B>C>Si>N>F
Si>C>B>N>F
(T C. F>N>C>B>SIi

2

C. F>N>C>B>Si -
) D. F>N>C>Si>B
D. F>N>C>Si>B
64. Which one has a planer structure? 64. e 3 foraehl TeHT Iuae 1 &2
—A. NH 4+ A. NH4+
B. SCl, _;j B. SCl,
C. XeF, C C. XeF,
D. BF,~ D. Bf,"
<65 Compounds of alkaline carth metal 65. &mia v, argett % Wfiver @R argeir
are less soluble in water than the % Al & s § 7 R e & w=iife-
corresponding alkali metals salt due
e A. T I AT 3T
A. Their high ionisation energy, B. ¥Rl Fi=T ferega =Romesrera
B. Their low electronegativity Q C. T i Sedisar 3t
C. Their low hydration energy \_ D. T =3 ST I
D. Their high lattice energy
66. Peptide bonds are key feature of- . 66. YIS EY T G 7O ]
. Polysaccharides i ‘

ysa 2 A. UicliETse
B. Vitamins "D 8. fafg |
C. Nucleotides .

C. ;‘][aﬁdialg
D. Proteins o h
D. W

SPACE FOR ROUGH WORK / 1% %4 % fora srrg
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@ For an equilibrium 67. U HTRIEET H,0fs)==H, o),
H,0(s)==H, O(£), which of the R PrferRee & & 9 a1 e w8 7
following statements is true? A, 2 SRad araeT e @
A. The pressure changes do not T
affect the equilibrium

B. More of ice melts if pressure on < B. AR T T T T f A
the system is increased @\j ah feerdt & ;

C. More of liquid freezes if pressure c. afdda W @ agmr 9 df At
on the system in increased AT S

D. The pressure changes may
increase or decrease the degree of

D. @ RaEdA & wfsrar i wafa H

. advancent of the process et gt aruedt &
| 68. Which of the following organic 68. fr=ifeifaa i A i G FRS Afw
" compounds polymerises to form the gl BRI UTceEet S =TT 82
lyester D v
POR SRR A. Sargefi a9 R HO—(CH,)—OH
A. Propylene and para h\ .
HO—(CgH,4)—OH LL B. AIIgaH 30 AT T
B. Benzoic acid and ethanol c. SRl v T wfiel W
_.C—Terephthalic acid and ethylene D. A=AIgh I qUT QU
glycol HO—(CgH,)—OH
D. Benzoic acid and para
HO—(CgH4)—OH
|
" 69. In metallurgical process, aluminium 69. arg Fremdvr wfsran A cegfifam Foer it
/ acts as- TE HH FAdT 8-
A. An oxidising agent ﬁ_\\) A T SHFEERE
3 : f=
: B. A reducing agent @ e —
i ¢ Acidic flux -
I +F . c. Aftaa mes
4 D. Basic flux .
© D. A MEH

'SPACE FOR ROUGH WORK / T% &1 & ford wig
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i ¥ SRR .

g Freae P e § @l gy
70.  The “Group displacement law” was 70. w5

given by- [COIRICIRIE
—#- Becquerel AN A. A
B. Rutherford @ B. @I
C. Madam Curie i ﬂg‘t]‘ﬁ!@
D. Sod d Fajan [
e D. HIETE & A
71. 71. H' (aq)
CH,000C,Hs (ac)+H,0(4) 16, CH;CO0CHs(aq) +Hy0(4)——>
CHyCO0H(aq) + C,HOH(aq). CH;COOH(aq) + C,H;OH{aq).
What type of reaction is this? arfsran ford SRR 6T 22
A. Unimolecular elementary A. TrEIfis tnfoaes
B. Pseudo first order G/ B. SIHTUTHIR
| =3 TS
~€. Zero order C. QE'EI'H%%
D. S d ord
SR D. RdaFif
72. In the electrorefining the impure 72. foepa wie 7 3R a1 < el 2
metaé;tsh I;adc- 5 A
A. 5] e
NN
B. Anode e ) N @g "
C. Both (A)and (B) C. 3 (A) 3k (B)
D. None of these D. Qﬁ@‘ﬂﬁéqﬁ
73. Which one of the following is an 3. fefoiea # ¥ S e s
example of adsorption? ITET 22 ‘
A. Ammonia in contact with water A. ST s
B. An hydrous CaCl, with water 2.4 B
C. Silica gel in contact with water Be. __H_Eﬁ?m CaClzl
) vapours @ e aa.am%ﬁq%ﬁﬁ%mr@la -
D. All of these = D. S9Tis oyt
SPACE FOR ROUGH WORK / T & % ford wre
20362-XNY-PRV-JYN-M " * 28 I“ “I"l" l “lll“ ||| I“ 43 Setl
]



| 78. The coordination number and the 74. [E(en),(C,04)]NO, (&l (en) fafer

oxidation state of the element E in '
T i gHaaEE |
the complex [E(en),(c,0, )]NO, ol

STRIROT 3§ FH: BH-
(where (en) is ethylene di amine) are
respectively- A. 633
A. 6and3 - B. 632
B. 6and2 ( O/ c 432
.D. 4and 3
' 75. The most suitable reagent for the 75. Frafafae afads & foe o=@ Sug®
| conversion of R—CH,0H—RCHO is el -— 2
K. (r0;3/H,50, (o) R—CH,0H—>RCHO
B. PCC 2 A. CrOs/H,SO,
C. KMnO, /KOH B. PCC
D. K,Cr,0;/H,50, C. KMnO, /KOH
; D. chr207 , HZSO,‘
' 76. Fog is an example of colloidal - 76. @ew =i @ o wiemgee e &
system of JETET B?
e | . . q e P
: A. Liquid in gas U\ ) ' A Tauzd
B. Gasinliquid 8. zaifg
| _Gr Solidin gas & Fedd
i D. Gas in solid ;
D. 3WANG
| 7. Whatis false about [Ag(NHz), ]C1? 77 [Ag(NHs), |Cl % =it 3 a7 TTerd &7
i ;
a A. Itis a cationic complex ) A. T8 TH TENE U 8
j B. Hybridisation of silver is sp? & B. fyestil SP? WamwIy
| C Itis diamagnetic in nature c. wudg=FaTFaFe
E ’ is diamine silver
e Y D. T TR ST et (1) Fiiiss
4 chloride 2
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78.  Propanal and Propanone are- 78. YT AT ST €7

A. Functional Isomers A, Tomrenes gomadt
B. Position Isomers o, B. WM anEdt
C. Geometrical Isomers C\/
omeircal mer I’ C Wﬁ?ﬁqm
D. Optical Isomers
: D. YR Tt
73. What is molecular formula of a 79. T i foreeht JArgardt G CoH,0
compound with an empirical formula T AV] W 88 AT/ &, A A
| of C;H,0 and a molar mass of 88 B ﬁ @{ﬁ’l?ﬂ‘?
gm/mol? |
() A. GH.0
A. CHgO, | 204
‘ B. CgH,0
| B. CgH,0, @, €0,
1 : i C4H0
i C. GyHgO, et %
| D. CgHy,0;
D. GgHyy04 - |
80. The hybridization of carbon in 80. &R, Aprge O wHifeeh ey
diamond, graphite and acetylene is HH T 2
il respectively-
5 A. sp?,sp,sp?
i A sp,sp,sp’ :
{ 7N B 2.3
4 ' ~P,Sp
i B. sszpz.rspa @/) X _ il
| | C P spls
€ sp?,sp,sp : :
D. ¢p2 <3
P .sp’,s
D. SPZJSPBaSp S

SPACE FOR ROUGH WORK / W&t & it
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@ If Myormat 18 the normal molecular
mass and “ o’ is the degree of
ionization of K3[Fe(CN),], then the
abnormal molecular mags of the
complex in the solution will be-

A. My ormat (1 +2C¢)_15

AN 5 \
B. Mnormal(1 +3‘1)h1 @\)

,C' Mnorrnal(l"*'arl
D. Equalto M,

82. Two radio isotopes ‘A’ and ‘B’ of
atomic mass ‘X’ and ‘Y’ are mixed
in equal amount by mass; After
20 days, their mass ratio is found to
be 1: 4. Isotope ‘A’ has a half life of
1 day. The half life of isotope ‘B’ is:

Y
1-11—da
X Yy

B. 0-11§day
Y

C. 0-6237 day
D. 1-10day

i

83. A first order reaction is 50%

| completed in 20 minutes at 27°C and
in 5 minutes at 47°C. The energy of
activation of the reaction is-

A. 43.85 kJ/mol e
B. 55.14 kJ/mol b
C. 11.97 ki/mol
D. 6.65 kJ/mol

81.

82.

afe K3[Fe(CN)sj 1 G A0
KA ‘Mnormal’ a- ‘o’ :mq:ﬁaﬂur
fRaft 2, At e < faeraa d
ST e SoadH BT

A. Mnonnal(1+2a)-1

B. Mnormal(l"'sarl

C Mnom|(1+a)'1

D. Miormal H TR

2 et arenfie <A 3 B’
o3 O] FoH X W YR,
ZSH <l gu AT A i R
20 (&fte) Tesil 3 e ST ST AT
1 : 4 90T IR AT A’
ardeTr 1 fer<hr 81 ‘B <t arefeng Bit:

e 1-11%1%#

% 011X R
Y
C. 0-6237 f&A
D. 1-10 f&7
T W hife rfifsRar 27°C w20 e
AT 47°C W5 T § 50% ot et
&1 At i afsrror oot -
A. 43.85 fEs@nia
B. 55.14 f <@/
C. 11.97 s S@niw
D. 6.65 .S/
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s~ ¥ AT W AR Fqr
84. An electron travels with a velocity of 84. ggaaH xms

S-TelT atey)
x ms ™", For a proton to have the U WIgH & fag ax A
same de-Broglie wave length, the a1 % forg srgmifaa EUF
velocity will be approximately: A. 1840
A. 1840 x
) B X
: _;"'"\. .
5 X ' @_/ 1840
1840
C. 1840x
C. 1840x _
D. x
D. x
85. The standard enthalpy of formation 85. Octane (CgH;g) =T AT GWST IHT —

of octane (CgH,;3g) is — 250 kJ/mole. 250 foh. S@/AE B1 Cg H,g <l <89 391
Calculate the enthalpy of combustion FroET i sfe CO,(g) Td

of CgHyg. The enthalpy of formation H,0L) 4 HAST: —394 FE.
of CO,(g) and H,0(£) are —394

kJ/mol and —286 kJ/mol respectlvely Elgf/lﬁ?'r@ o ﬁ.ﬁ[@ﬂﬁﬁ 8
A. —5200 kJ/mol o A. —5200 f. ELFT/‘I?IE[
'B. —5726 ki/mol @ B. —5726 . S

C. —5476 kJ/mol C. -5476 f%. S/

D. —5310 kJ/mol D. —-5310F%. S/

86. Which of the crystal systems 86. T mﬁwﬁﬁwﬁm

contains the maximum number of fred T A A

Bravais lattices? _ =

A. Cubic P i A

B. Hexagonal @ | | B. we=ivfig

C. Triclinic C. Bram

D. Orthorhombic D. FunemEme

SPACE FOR ROUGH WORK / & w1 & o

20362-XNY-PRV-JYN-M 2 | IIIIIIIIIIIIIIIIIIIIII 43 Set!
{ I T S




g7. Which of the following is formed 87. R gard wf w WA= A |

when lithium is heated in ajr? ' TAATR?
A. Only L0 A. S Li,O
. I
B. Only LigN =N e
sy af _ (‘D_;, B. ¥ Li;N
C. Both Li;O; and LiyN o C. U,0, W Li,N ST
D. Both Lizo and LigN D. leozqd_ Li :a:ﬁ_
3
88. The hydration energy of Mg2* ions 88. g2t Wﬁﬁﬁaﬁﬂ?mfﬁmﬁ
is higher than that of- e e
A. Al3+ A. A.I3+
B. ge2* @\ B. ge2t
< Na' C. Nat
~ D. None of these D. T A FIE el
89. Nessler’s reagent is used to detect the 89. Juer fvvamie famadht sulafa =
presence of- - : qear % o IwaT Rrarsmar 87
! 2_ ’
; A. CrOz ~ _\ A. CrOi_
w) Y
% B. 3— ' '
N (D) 5. P03
‘ C. mMnO; C. Mno;
o g o
E
a ;
| compounds answers both iodoform ATASIEH aar wefein ST aliEor ar R
*  and Fehling test?
1 c B : A. an(_'l'
' A. Ethanal @
4 e B. WA
‘5 B. Propanone '
| C. Ethanol c.
’f D. Methanol D. Prie
:
SPACE FOR ROUGH WORK / % &R & fory g
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Q|1 HAd e I &2
91. The weakest acid amongst the o1. F=
following is- A. HCOOH
A. HCOOH . B. Cl—CH,-COOH
B. Cl-CH,-COOH Q\) C. d,—CH-COOH
C. C,-CH-COCH D. Cl-CH,—CH,-COOH
D. Cl-CH,~CH,-COOH
92. sy1 reaction of optically active alkyl 92. g S Faramefier TR et
halide leads to- Sy 1 ST 2T g 8-
A. Retention of configuration o A. ffR=mad sfada
B. Racemisation Q ) . ity
C. Inversion of configuration c. frafa sfifremm
D. None of these
D. T A A
93. In a triple bond connecting two 93. 2T % +fte Frama F g A
atoms there is sharing of: T
A. 2 electrons ey A, 2REIR
B. 4 electro : o b
el " @) B. 4 FoiagMIHt
C. 1 electron
TR S
D. 6 clectrons k.
D. 6 FciagMl Y
94. Which of the following processes are 9. ReAd= e Ag,S AAg*
used for extraction of Ag from ﬁq@qﬁwmg?
Ag,S?
2 . A A. "ARS
A. Cyanide process )
U,.. B. Jefafy
B. Lead process
C. Mexican amalgamation process C. A e fafl
D. All of these D. IWrhwf
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20362-XNY-PRV-JYN-M o IHIUITNN o s
E!_ ; A_. e w



g5. On the basis of Bohr’s
radius of the 3rd orbit i:;mdel’ the

| a .
A. S:lbl;t to the T?!dlus of the first

B. ggie times of the radius of first @_)

C. Five times the radius of the first
orbit

D. Nine times the radius of first
orbit
96. In Sy2 reactions, the correct order of

reactivity for the following
compounds is- e
CH3l,CH3 CH,Cl, (CHg),

CHCI(CH;);C—Cl <
A. (CHs),CHCI>CH; CH,Cl > @)
B. CH;Cl>(CHs),CHCI>

CH3 CH, Cl > (CH;);C—Cl
C. CH3CI>CH3—CH,CI>

(CHz), CH—Cl> (CH3)3C—Cl
D. CH3—CH, —CI>CH3Cl>

(CHz), CH—CI > (CH3)3 —C—Cl

w
—

* The size of Be?* and AP" is not so
close but they show diagonal
relationship due to-

A. Different effective nuclear charge

B. Different atomic number C
C. Similar charge per unit area
D

. None of these

s A sy B g B s S e e A e o A o B A il L R 3

§ s dutionon

95.

%-

97.

AR siTEer ¥ R qT dradt w5 i B

2

sy e < T S e
srory e < e < Ry
o & Y o S ot T
pore = o B TR

©c N0 = »

52 e & i Feforfaa At
1 foramefierar =1 @& #H — - 87

CH,Cl,CH; CH,Cl(CH3),
CHCI(CH,);C—Cl

A. (CHs),CHCI>CHy CH,CI>
~ CHyCl>(CH3)3C—Cl

B. CHyCl>(CHz), CHCI>
CH3 CH, C1 > (CH;)3C—Cl

C. CH3CI>CH3;—CH, (>
(CH;), CH—ClI > (CH;3)3;C—Cl

D. CHy—CH,—CI>CH;Cl>

Be?* T AP T AR U G E 8

A. Tl e iefrr smaw
B. T vy st

C. fd 3% &7 W UHE e
D. ¥ AR

¥

S s Gan INB  2d

m:-XNY-PRY_—JYN-M | . 35." I""I"II”""I"”"" 4
i
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98. Methane can be converted into

aind b T

| 100

cthane by the reaction-
A. Chlorination followed by
reaction with alcoholic KOH R
B. Chlorination followed by @
reaction with aqueous KOH

C. Chlorination followed by Wurtz
reaction

D. Chlorination followed by fitting
reaction

- Reaction of phenol with chloroform

in presence of dilute sodium
hydroxide finally introduces which
of the following functional group?

A. —COOH @

B. —CHCI,
C. —CHO
D. —CHCI

The electrolytic decomposition of
dilute sulfuric acid with platinum
electrode, cathodic reaction is:

A. reduction of H*

~ N,
1r

A

B. oxidation of S02™
C. reduction of 02"
D. oxidation of H,0

98.

99.

100.

e i A e o iR g B

<o i e fiva < @ 22

A. iR 3 e Tebiefers KOH
o fifsRn

B. e & a1 wed KOH &
srfufsrar

C. FerHtertur 3 s1e gt ARt g
D. TR ¥ e fpfam arfufrn
g

Ritier <t s Felrem & e

aifea TrggiaTse St suftafa
Fefofaa fora forar we = sear
N _

H" =1 3=

B. 02~ 1 arfieraor
SO%~ 1 It
D. H,0 T 3raefiemur

i
B
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PART - III

3) Mathematics 3) T
108 1 pand qare the roots of 101 af pud g, »* +2px+q—-6=0 H A
X2+2P’<+q—'5=0,the value of p &, p FTHH U &-
equals-
A 1.2 A. 1,2
B. -1,2 (b B =t
| . 1,2
C. 1,2 ¢k
D. -1,-2
D. —1,-2
102- ' 102-
If oo =sin” 1---\!-_——I-sm 3 and afe o =sin 1---‘\/—_—+s: 5 1 aik
B=cos 1.J_+ccls —then- B=cos™ 1“/_+r:c>s giﬁt-
A. a>f | - A. a>P
B° a:Bz 6/ ! B. a=B2
C. a<P O C. a<Pp
\ | D. a+pB=2n D. a+B=2n
103, 3 103. § 95 =
L} lim —7%% +16x— 12 - lim X~ —7x +fl6x 12 -
L logx—D)sin(x—-2) x—2 log(x—1) sin(x—2)
. A 01 _ A. 01
! LN ‘ .
B O @ B. 0
§ c -1 c -
. D w D. o
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C. does not exist

D. =1

105. No computer can do anything

without a-

A. Program ~
B. Memory Q\j)
C. Chip

D. Output device

106. The area of the quadrilateral formed
by the tangent at the end points of

latus rectum to the ellipse

2
—-xi+v— =1 is-
9

A. 27 :
— §q. units

-' * <
I B. 9 sq. units D

— sq. units
25‘1

f D. 27 sq. units

104.

105.

106.

_ cosec 'x _
lim ———=
x—0  cot

1)(
A. 0

B. 1

C. G el
D. -1

aﬁé:ﬂmgt-----ﬁmw#ﬁaq
el

A, T &

' B. NOMTEH

c. Sw¥
D. W%HW%

g X 1 e

ot o et & il sl o1 Qe
S

A. 27

Taﬁm{; .

8. owigmd
2 e

D. 27 9 ghid
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107. : - '

The matrix A=| ' 3 ). - 107, i 3

’ ("‘3 —2i] o T A=(—3 —zJ &

A. Hermitian A. SR

B. Skew-Hermitian @ g B. Rremahf

C. Non-singular |

: ‘ C. gasweig

D. Options (B) and (C) - :

- p. fasea (B) @ (C)

108. For what value of A is (A'1 —JLI) 108. , F T ¥R (A“l—ll)

6 -2 2 IFIAFAT &, Afe
singular, if A= -2 3 -1|andI

6 -2 2
2 -1 3 - 3
A= [—2 3 —1] AT L qdg RifE F

is the third order unit matrix? 2 -1 3
A 2 - THIK AT &-
B. 8 @ - A. 2
C. 1 _ ' B. 8I
. _ | G 1
D. None of these . 2

D. FHARETE

R : SPACE FOR ROUGH WORK / T &4 & Ror wTg
™ |
§(a#1) - () (~6+Vr 2(2-0

@3;3 S %‘l‘%)
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; 09. s e
109. If three consccutive terms in an % gutiat Aol & T 94 e [
Arithmetic progression (AP) arc b
~C
111 b-c o —=
e Rt o UICI'I - - = 2 a_b
abec a-
A. a A a
c
B. b @ B. b
% /
a .
C. a C. a
b b
D. ¢ D. c
2 ;
110. 22 110. —y2 d
If cos ™} -’%——y? =logz then Y i afe cos™ 5 yz =logz AL w
x° +y dx . x> +y dx
equal to- qﬁ—gﬁrr[_
A- l(' - e A. l(_
) v
B % B: 32
o} L
Y Y2
C 1
C 1
D. vy
- D.
X y
X
- SPACE FOR ROUGH WORK / T% &4 & forg wmg =
mni ‘) K :.1\ |
71‘-?La | y ol
7\1%\ ) "',
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111. If o and B are the rootg of the 1L o WB i 3x% 2% +6 =0,
equation 3x* ~2x+6=0, then the & o+l B+l
equation whose roots are %»‘ngﬁ S2i -1’
o+l B+1 : YT B
a-1' -1’

2
e o ettt A 7x* —6x+11=0

5 s T B. 7x?+6x-11=0
LB TXT+6x—-11=0 - P(

X C. 7x%+6x+11=0
C 7 +6x+11=0

D. FHAFETE
D. }\Ione of these
112. 112. el |
Function y =—— increases in the WV=LWW£’@H
logx logx
interval- B
A. (2, ) s A. (2,)
8
B, (L) B (1)
C. (0,) ' c. (0, )
D. (e, =) D. (e, )
113. The process of Newton-Raphson is- 113. %—Wﬁﬂﬁﬁ‘[ Bt 8-
A. Linear convergent A. Yas svmEifar
B. Quadratic convergent B. feundiy sifvmrfar
C. Cubic convergent /@ c. Bk s
D. None of this .
. T ARG
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114. fe 3 gad Al H ArTh A

114. If the sum of two unit vectors is a

1+43 s
vector of magnitude 1+43 , then the afeTor g drfeem ¥
| N 2
| = :
| angle between the two given vectors e 10T 2-
| is-
A. 0
A. 0
B. m
B. = <\ 3
()
C =
. 2
2
D. n
D. T ‘g
6
115. When ax+by+cz=p then Minimum 115. 2 +y2+22 I A T, S
i =l
value of x> +y? +22 is- ax+by+cz=p &
f a B A. p
Za 2a
: B. p* @ B. 2
! za’ s
¢ = C. za
B =
T
D. 0 -
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_116. The probability that A ; 116 4
X _peaksmh's 'A%mﬁaﬁﬁy@wgmsﬂs
?g,,Bspeakshuﬂl is %.The

ey &y wifdreaT TS
probability they contradict each other SR .4 bk
Is- Rt 2 ot TR -
AT

20 A "2'76
o @ B. 1

5 | - >
- i C. 3

20 o EJ‘
o > 4

5 ' g

- \

117. The equations to a pair of opposite ~ * 117. Tt warer =it b1 ferodiar w @

sides of a parallelogmn are T 2 —Ex+ 60 3R
x*>—5x+6=0 and y* —6y+5=0. _ |
. L y? —6y+5=0 &, @ o el &
The equation to its diagonals are- :
iR E-

A. x+4y=13 and y=4x-7
A. X+4y=13 791 y=4x-7

B. 4x+y=13 and 4y=x—7@ -
' | B. 4x+y=13 T4 dy=x-7

C. 4x+y=13 and y=4x-7

. D. y—4x=13 and y+4x=7 C. Ax+y=13T91 y=4x—7

D. y—4x=13T4T y+4x=7

SPACE FOR ROUGH WORK / 1% &4 & ford wre
AM“—‘- g@'wb =1, f)l--SqMQ_O VYt
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S qfa}"%_
118. A unit vegtor perpendicular to both 8. ¢, qun jork % e G

i+jand j+k is-

% _l_‘i-'j+li)
3
A, A oa 2
—1-(i—j+k)
3 i A g
" e i-—j+k)
8 3

119. _ 342ising 119. . 3+2isind
If i gfe 2 —-
1=%00 15 a real number and 1—2isind

U Srefas =T e 3

0<0<2x, then 0 is- 0<B<21|:,?ﬁ' 0 =T 9 8-

A A T
B 'J’/:H-'\\J
- X Q B. =
4 2
& T & &
? 3
D. T D.
° 6
] , _» SPACEFOR ROUGH WORK / 1% &1 & R g
A4y oMY R

_L AN N Mﬂ&—
: ~ A g "(K .
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0. If b, and . .
12 yx bxy are both positive, 120. 7f2 bvx 3R bxv 2T T & -
then-

A A 1 " 1 <2
1 1 ™
'l;---!-——-_(_% bYX bW r
yx bxy r

B. 1 + 1 >2

B. PR i
EL+BE_>E ~. bvx bw r
yx Yy T

@ ¢ i+i<£

C'_1_+._1_.<£ bvx bw2

bvx bw 2
D. 1
R

D _1_.{.__]'__:1 be be
by by,

121. The volume of the parallelepiped 121. QUi HgGereh foraeh i fe afewr g
whose edges are represented by the frefiq

vectors- ' | R k

- . . a a=21—3]+4li,

a =2i-3j+4k, 5

i P b=|+2j"‘k,

b=i+2j-k, o o -

> .. s _ c=3i-j+2k

¢ =3i—j+2k is—

1 AT o-

A -7 '

_ A. -7

B. 7 |

B. 7
cC. 0
, C. 0
D. None of these
D. T &

SPACE FOR ROUGH WORK / % %w % ford wmrg
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i e .._:____l...i.....___.i_'-._

e —

122.

' - . x|dx BN-
The value of _Hlogx]dx is- 1_L||03 |
1/e
A. 2(1-e) A. 2(1-e)
X
B zrl._..]_') = i B 2(1_-]_.
) ;
)
c ( c (.1
2 1+1) 2(14‘8)
. e
D. 2(1+e) D. 2(1+e)
123. 5
13 }1+x5dx 123 ]-1+x di
o 1tx o 11X
A. 57 A. EZ
N
B. 47 /7}1‘7 B. 47
60 Q/ 60
C. C. Ei
12 12
D. 1 D. 1
124. -
12% sin(ncoszx) ‘ sm(ncoszx).
x—0 X X xl
A 7 _ A.
B. n/2 @ B. n/2
C —«x _ C. -&
D. 1 D. 1

SPACE FOR ROUGH WORK / T &% % Ry sy
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F-_

125. Degree of differentia] equation 125. ﬁ #7[91]4 _JR =0 A -
dy _(dy)* d  \dx
o ax) “Vx=0is
d A. 3
A. 3 -, B. 4
e 1% /C ) c 1
G 4 Mg ™ D. A9 & g e
D. None of these ’
126. The value of log (i) 126. log (~i) 1 A 8-
A, T A. n
2 2
B. m =~ B. =
. (© z
= _ft_i C. _mi
2 2
D. Ei D. Ei
2 2
127. If cosx—sinx>1and 0<x <2 then 127. 3f2 cosx—sinx>13MM 0<x<2n 2
the solution set for x is- : aaxa;mgawaam-
A-'[ n:’ (77 ] ' =
0,— |Ul—,2n AT n] 7n ]
i 0,— —, 2%
L'a)7 L4 0 U_4
B. [3n 7n | e 2 -
—,—|U}0 B B. [3n 7
[z V0. () 372 1 Ufo)
/ | 274 |
C. [3 i : -
—,2n|U{o C. [3n
D. | 7n ] " -
—, 27 U0 D. [7x
[4 | 0 - 20 |U{o}

SPACE FOR ROUGH WORK /1% %™ % ferg anmrg
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128, | 128, @1 2x+y-9=0 Prddamd
+ Line 2x-+y~9=0, which of the a9
B quaerd 1 ST
following is the normal of the
parabola?
. A 2_ _‘_‘;ﬁ
4%
Vz =—§-
- -“\\ B vz =4x
B, .,2_ '\")
4 1,
r k G o A
C. , 16x "3
=3
D- y2'=3x
D. y2=3g
129. 129. ' n +
IfA+B='-z—,whefe A’B'ER*',[hcn u‘ﬂA‘l‘B:E,qﬁ A:BIER ’aa
the minimum value of (1+tanA)(1+tanB) T AT qH
(1+tanA)(1+tanB) is- 2m-
A 2 T A 2
B. 4 Pf 5 3
C. 1
C. 1

D. None of these

D. T A 7

130. If the product of three numbers in GP-  130. ﬁ.ﬁ.ﬁ?ﬂqmmm 216 741
be 216 and their sum is 19, then the

IFHT AT 19 B, A S Heand 2-
numbers are-
A. 4,6,9 ~ A. 4,6,9
B. 4,7,8 @ B. 4,7,8 -"@
€. 3,72,9 C 3,7,9
D. None of these D. FHAFE T
SPACE FOR ROUGH WORK / T% 1 & vy oy =
g —920 T py p L 9 ,

I3 249 @ A w%’rhan 19
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131.

If the straight lipe Y=mx is outside

the circle x? +y2 —-20y+90=0,

- then-

132.

133.

A. m>3

B. m<3
o3 |rn|>3/ |

D. Im|<3

If the points (1, 3) and (5,1) are two
opposite vertices of a rectangle and
the other two vertices lie on the line
Y =2x+c, then the value of ¢ is-

A 4 ~
B. 4 Gé/
E 2
D. -2

The order of differential equation
whose solution is given by

y=(cy+¢; )cos(x+c3)—c,e™ S is,

all C; are constants-

A. 4 ’
B3 @
C. 3

D. 2

131. 3fe ot @1 y =mx, Jd

132.

133.

xz +y2 _20v+90=0 %W%ﬂﬁ'

A. m>3
B. m<3
C. |m|>3
D. |m]<3
g (1, 3) 3 (5, 1) e 3 3 et
9 21 9 @ o y = 2x+c WRYT

2, T ¢ I 9 aTI-

D. -2

mmumwaﬁ@ﬁﬂ’ﬂ-
ot g

| y=(c1+6)cos(x+c3)—ce*™ s &

- g e S B, s andt ¢, IR E-

A. 4
B. 5
C-3

B 2

P T T R S ; e N

:;?20362-XNY-'PRV-JYN%M £
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i T i Toke Ea

1“.

a —>

- " o ® A2
Let A=—i+)+k;B =2i+3k The

- o -
vector C i1s coplanar with A and B .

- -

If C and B are orthogonal and
- - -

C-A=-76 then C is-

A 30—26]-20k

B 307+26j—20k @
.

307 +26]+20k

D. None of these

A. 307—26]—20k
B. 30i+26j—20k

C. 30 +26]+20k

D. FHAFRAA
135. The equation e* ™ +x—2=0 has- 135. gift. &t +x—2=0 %T{aﬁ'
A. Infinite real roots A. 3Fd aRaias gl
B. Two real roots B. AR g
C. Three real roots C Fﬂ'—tﬂ!ﬂﬁ'ﬂﬂlﬁ
D. One real root
D. THIARARYE
136. One root of the equation 136. mftamor »3 —S5x+1=0 T g
x3 —5x+1=0 must lie in the I O BT-
interval-
A. (0,1
A. (0,1) /@ ©.1)
B. (1,2
B. (1,2) th, ?
' C (-L0
C. (-L,0) ( )
: D. (1,1
D. (1, 1) (1.1
SPACE FOR ROUGH WORK / T T & fery srre i}
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137. ’In'a COnfemnce’ ey

- every delegate 137. o geieA 1, Y3 F T @ 25
delegate. If 300 handshak SRty & ehu e &R 300 SR 2
7 : €S hﬂve - w = -
been counted, the number of forTra T 8, A e J SF T AT
delegates participated in the wfafftrt f19ear &
conference is- A 20
A. 20 :
B. 25
B‘ 25 ’@
C. 30 &S0
D- 35 Dv 35
138. The angle between a line with - 138. fag=li (3, 1,4) 941 (7, 2, 12) =1 e
direction ratios 2:2:1 and a line g1t vE=1 991 &1 5u% eF 39ga
joining (3, 1, 4) to (7, 2, 12) is- A ———— z
= cos 1 (2] o
= s
\3 A. ms_1 .g.)
3
B. 4 4 2 (7 X
il i1 ks P Biwr o2 N5 2)
s cos? (—3—) c £ 2
\2 cos -g)
B cos™? ( 3) \
e {
\ 2 2 cos? -EJ
i 2

139. If sinf; —sin®, =a and

_ 139. If sinG; —sinG, =a 3k
cos6y +cos0, =b, then-

cos6; +cos, =b, T9-

: gt +b2.24 A.

. a?+b%2<4

,@.

A
B

C a24+b%23 " .
) _

a’+b2>4
B. a2.p2 <4

C 24p2>3

. a?+b%<2 D. 224p2<>
SPACE FOR ROUGH WORK / T6 &4 % Ry wmrg
P
3 I=

SANO, — $tnp, =G N4 (630, + 8,25 Fha A4}k

20362-XNy_PRV-JYN-M

o s (TN s sen



. # x =

140. The area bounded by the curve 140. 3 2 = Aa’(x—~1) ;gi;mﬁ'"j‘ I

y* =4a’(x~1) and the lincs x = 1, y=4a @ e dvt 1

e B. 16a
v 1 K]
3
@ Ly 5
3 D. ;2

Di: 2
141. A computer can execute- 141. T FY Frenife o @ -

A. aflow chart A. T Gl |1

B. a pl‘ogramme ( /\\; “\\\ B Eq; m

C. an algorithm 7 C. TR

D. all the above 0. FwEd
142. A finite sequence of steps needed to 142. foreft awen 1 g FA o fore smaem
- solve a problem is called- JiT < IR 7 ) T AT 8-

A. aprocess A. T iR |

B. amethod of solutio B. T e F B i

C. an algorithm '

i C. TH Uiy
D. aflow-chart
D. & RA A1

" The vectors 314542k, 21-3j-5k 3 wRw 3145742k, 2i-3}—5 au

and 5i+2j—3k form the sides of a 5i+2j—-3k Wmﬂﬂaﬁ-

triangle which is- i A ETE

A. equilateral @/ 2 -

B. isosceles, but not right-angled ’ G, iy

C. right-angled, but not isosceles C. w 'v@ﬁ;"m’fﬁ

D. right-angled and isosceles D. HWehIT anfeamg

SPACE FOR ROUGH WORK / T thd 3 ford armrg =
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144. If 2; =1-i anq 22 ==2+4ij,then 144. Ife z, =1-i 991 z, =_—‘_2_+.4i,fﬁ
I {21 22) 2,2 |
m 18- 142 il
3 ) ‘m( 3 J :
| 1
A' 4 s A. 4
B. 2 q (: B. 2
= .
C. =2 7 C. -2
D. <4 D. -4
145. A typical modern computer uses- 145. e fafire smgfie St 39 &
A. LSI chips A. LSIRm
B. gg:gnctlc cores for Secondary B. ﬁiﬂaam#%aﬁﬁﬁﬂaﬁt
ge
. yRdye A & fory gerha 2w
C. Magnetic tapes for Prim G ' S
memory D. YU A U hig &l
D. None of these
146. cos 9°+sin9° B | 146. cos 9°+sin9°
cos 9°—sin9° .. cos 9°—sin 9°
A. tan26° __ A. tan26°
B. tan 81°[L</ B. tan81°
C. tan51° C. tan51°
D. tan54° D. tan54°
147. Area bounded by the curves 147. y=|y, y=|x—1| 3R x-215 & oy &=
y:,xl,y=|x—1l and x-axis is- FT A% BITI-
A. 1 A 1
4 ra
B. 1 - '"\H\‘y B. 1
2 Q 2
€. c 1
D.

None of these D. T AHIE T

SPACE FOR ROUGH WORK / T &t & Ry oz
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148. If ¢(x) = f(x)+f(1—x), f"(x) <0 for 148. af? (x) = f(x)+F(1—x), T 0=<x <13

0<x<1 then- ﬁ’TQ £(x) <0 T-
~ ¢(x)-decreasing in | 0,2 A. 1] 5
] s 05 |
B. ¢(x) 1is increasing in [%'.1] L e @l
“ 1 @ Y [ ]ﬁqﬁmtﬁmﬁ
¢(x) has minima at x=E

' 1 x=2 T $(x) P 2
$(x) increasing in [0';. 2

| I

% d(x), [o%] 3 gfRaaH Fe 2

149. 2 149. —x+x2
The greatest value of f(x)=1_x+x f(x)=1 XX o1 g A E-
. 14+x+x> 1+x+x°
15- A 1
ke B. 1
B. 1 3
©
C. 3 | D. 0
D. 0
150. In three dimensional space xyz, 150. fforta TThmT xyz & Gefiemor
equation x> —5x+6=0 represents- 'XZ —5x+6 =0 YeRiqd Fara-
A. Pomt : :
K H A. fog
~ B. Plane N
C. Curve B
D. Pair of straight lines <.
D. YargW
SPACE FOR ROUGH |
w’L ) WORK / 1% %1 % fordy s
e ] A L RPN
ool s Az O X
3_._., e
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